Scrooge’s Missing Diglts Multiplication (A)

Name: Date: Score:

Help Scrooge fill in the missing digits.

1. 2. 57 3. 6 D + 22
X 5 X 50 X 97
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X 69 X 34
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X 6 X 32
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Merry Christmas from Math-Drillscom!




Scrooge’s Missing Diglbs Mutblplication (A) Ahswers

Name: Date: Score:

Help Scrooge fill in the missing digits.

L 74 2 57 s 60 + 22
X 96 X 56 X 50 X 97
7104 3192 3000 2134

> 30 6. 2 7. 3 8 34
X 69 X 34 X 34 X 29
2/0/7/0 850 1088 9816
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9. 6 3 10. 7 6 11. 6 3 12. 4 7
X 62 X 63 X 32 X 77
3906 4788 2016 3619
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13. 33 14. 15. 4 2 16. 34
X 79 X 37 X 23
2607 1554 782
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X 90
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Merry Christmas from Math-Drillscom!




